
08-06-2025

Arc Front Side Frame 

Select color of parts based on Base Frame color of the chair. When changing frame depth ranges, new seat frame assemblies are

needed. If quoting a Left Front Frame for Australia or New Zealand, 122921 is required when transit is not present.
 

Item Number Part Number Description Quantity

1a, 2, 11 113109_ _ _ Front Side Frame, Extra Short, Right, Arc 1

Accommodates 12-15" Depths

1b, 2, 11 113110_ _ _ Front Side Frame, Extra Short, Left, Arc 1

Accommodates 12-15" Depths

1c, 2, 11 113111_ _ _ Front Side Frame, Short, Right, Arc 1

Accommodates 14-17" Depths

1d, 2, 11 113112_ _ _ Front Side Frame, Short, Left, Arc 1

Accommodates 14-17" Depths

1e, 2, 11 113113_ _ _ Front Side Frame, Medium, Right, Arc 1

Accommodates 16-19" Depths

1f, 2, 11 113114_ _ _ Front Side Frame, Medium, Left, Arc 1

Accommodates 16-19" Depths



08-06-2025

Item Number Part Number Description Quantity

1g, 2, 11 113115_ _ _ Front Side Frame, Long, Right, Arc 1

Accommodates 18-20" Depths

1h, 2, 11 113116_ _ _ Front Side Frame, Long, Left, Arc 1

Accommodates 18-20" Depths

2 110149 Bushing, Pivot, X-Hinge 1

3 110162 Side Frame Pivot Tube, Upper 1

4 110163 Side Frame Pivot Tube, Lower 1

5 110210 Mount, Mechlock, Lower 1

6 110212 Link Arm 1

7 110214 Link Arm Lower Bushing 1

8 110215 Saddle, Link Arm 1

9 110270 Bumper, Tilt Stop 1

10 110253 Bushing, Flg, .397IDx.87ODx.175Lg 2

11 100804 Tube End Plug 1" 1

12 101472 M6 x 45 SHCS BLK ZC 1

13 101179 M6 X 10 Shcs Blk Zc W/Patch 2

14 101594 M6 x 14 CLS10.9 DIN7991 FSHCS BLKZC
w/Patch 1

15 102810 M6 Lockwasher, Hi-Collar, ZC 1

16 110216 Mechlock Mount Saddle 1

17 100746 M6 Flat Washer Blk Zn 1

18 100658 M6 Nylock Nut Blk Zn 1

122921 Not AS/NZS 3696.19 Compliant On-Chair Label
with Instruction 1


